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(g/km) (g/km) (g/km) (g/km) (x 10""{@/km)
A Edd A180 -~ Pirpatis 115 005 0025 0005 —~
AT A A180 5 - 200 1.15 0.05 0025 0005 -
AT AT B180 - oy 115 0.05 0025 0005 -
* g';\'izgzzzéj C180RT—Yay71y - 3??%&’?:" 115 0.05 0.025 0.005 -
A g?ﬁié%o;\zéj 200 - 3??%&’?:" 115 0.05 0.025 0.005 -
4 éﬁf_;?ﬁo%éj G200 4MATIC - S‘Ej%ff’?:@ 115 0.05 0.025 0.005 -
* ’t_,'ﬁzézz’;zgj C200RF— 3275y - S‘Ej%ff’?:@ 115 0.05 0.025 0.005 -
* gﬁiéb’;g‘y C350e - S‘Ej%ff’?:@ 115 0.05 0.025 0.005 -
# g'ﬁf’;ﬁ;g{n‘y CLA180 - S?gﬁ%ﬁ?:@ 115 0.05 0.025 0.005 -
e 2';&3;3’5}3/ CLE200 9—A’ - Sggﬁ%f\zf:”’ 115 0.075 0.038 0.005 -
# ’4';3:_’2?64;‘03J CLE20047"4L - S‘Ej%f\zf:”’ 115 0.075 0.038 0.005 -
* 2';3:_”217‘30’7‘76J E200 - S‘E%f\zf:”’ 115 0.075 0.038 0.005 -
2 ';1?_227;;6;;)/ 7 E200 - S(E%f\zf:/" 115 0.075 0.038 0.005 -
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‘ itﬁiﬁo?oéj E200 - 3?;%&?:" 115 0.075 0.038 0.005
CAVEad E200 RF—Lav 7Ty — 3?;%&?:" 115 0075 0038 0.005
* Kf\iﬁ;\%ﬁj E200 RF— 3w 7Ty - 3??%/‘%\25’:@ 115 0.075 0.038 0.005
* Kf\zés%éj E2009—A’ - 3?;%&?:" 115 0.075 0.038 0.005
HNAETR T E300 - 3??%&’?:" 115 005 0025 0.005
HNAETR AT E300 RF—Sav Ty -~ S‘Ej%ff’?:@ 115 005 0025 0.005
HETR AT E350e - S‘Ej%ff’?:@ 1.15 005 0025 0.005
4 %ﬁiﬁb&é‘y E350e - S‘Ej%ff’?:@ 115 0.05 0.025 0.005
4 ’4';3:_’2;‘77;};'/ GLA180 - 3?&&7&%&?:@ 115 0.075 0.038 0.005
* ’5'%&:_’247‘77;;(/ GLA180 - S‘Ej%ff?:”’ 115 0.05 0.025 0.005
* 2';&:_’247‘76;;&/ GLB180 - S‘Ej%f\zf:”’ 115 0.075 0.038 0.005
* éﬁifm&f GLB180 - S‘Ej%ff?:”’ 115 0.05 0.025 0.005
2 ';'EZZXM;;; k4 GLC350e 4MATIC - 3?;%&35’:/" 115 0.05 0.025 0.005
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HRTR GLG350e 4MATIC /-~ - o0 115 005 0.025 0,005
M;fifé;;\;?y GLS580 4MATIC —~ 3??%/‘%,\2?:”’ 115 0.075 0.038 0.005
"’;}Z‘Qgﬁg"’ S500 4MATIC - 3??%&’?:" 1.15 0.05 0.025 0.005
# ’5';\33?31";&/ S500 4MATIC - 3??%&’?:" 115 0.05 0.025 0.005
"’;}Z‘Qgg;"’ S500 4MATIC - 3??%&’?:" 1.15 0.05 0.025 0.005
AT LT $500 4MATIC - i rhais 115 0.05 0025 0005
"’ﬁ}fﬁ;@;" S580 4MATIC - 3??%&?:" 115 0.075 0.038 0.005
}}zfiﬁéﬁﬁv S580 4MATIC - 3??%&?:" 115 0.075 0.038 0.005
HRTR $580e 4MATIC - i rhaie 1.15 0.05 0,025 0,005
AT RS AET RAMG A35 4M — Sggﬁ%f\zf:”’ 1.15 0075 0038 0.005
AT RS AT RAMG A35 4M €57 — i sl 1.15 0075 0038 0.005
H TR NS AbT AAMG Ad5 S 4M+ - S‘E%f\zf:”’ 115 0075 0038 0.005
At R b7 ZAMG GLA35 4M - 305 2 #£25% 115 0.075 0.038 0.005
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* Lﬁjﬁﬁai/ A£F RAMG CLA35 4M SB - 3?;%&?:" 115 0.075 0.038 0.005 -
* g'gfiﬁﬁaaj A£F RAMG CLA35 4M SB - 3?;%&?:" 115 0.075 0.038 0.005 -
* Kiiﬁ&ﬁ’ ALET RAMG CLA45 S 4M+ - 3??%/‘%\25’:@ 115 0.075 0.038 0.005 -
* Qﬁjﬁf};\mj A7 RAMG CLA45 S 4M+ SB - 3??%/‘%\25’:@ 115 0.075 0.038 0.005 -
* Kizgzsla\zéj AL£F RAMG CLE53 4M+ C - 3??%/‘%\25’:@ 115 0.075 0.038 0.005 6
* 25\33?64%’ A£F RAMG CLE53 4M+ CA - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005 6
* Kf\z&o;éj AT RAMG C43 4MATIC - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005 -
* Kiz&z;gj ALET RAMG C43 4M SW - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005 -
* ’Kiiéb&é‘y AT RAMG C63S E P - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005 6
# ’;ﬁf’g?&gﬁ‘y ALET RAMG C63S E P SW - S‘Eﬁﬁzf:" 115 0.075 0.038 0.005 6
"’ZEA*_}XSQ;Z]“" ALET AAMG E53 4M+ §—A" - S(E%jgff:”’ 115 0.075 0.038 0.005 -
# ’:ﬁf’;ﬁb&é‘y A7 RAMG E53 HB 4M+ - S‘Ej%f\zf:”’ 115 0.075 0.038 0.005 6
# ’:&iﬁ'zgg‘y A7 RAMG E53 HB 4M+ SW - 3?;%&3?:" 115 0.075 0.038 0.005 6
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* Kii?sz%é/ AT RAMG G63 - 3?;%&?:" 115 0.075 0.038 0.005
* ’4';&:’“24;{77;\1(/ A7 RAMG GLA35 4M - 3?;%&?:" 115 0.075 0.038 0.005
* 2'%3?227;\1{/ A7 RAMG GLA35 4M - 3??%/‘%\25’:@ 115 0.075 0.038 0.005
A 2;3?227;(/ A7 RAMG GLA45 S 4M+ — 3??%/‘%\25’:@ 115 0.075 0.038 0.005
* 2';&:_’2;6;&/ A7 RAMG GLB35 4M - 3??%/‘%\25’:@ 115 0.075 0.038 0.005
* Kiiﬁﬁ%ﬁj ALEF RAMG GLCA43 4M - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005
* Kf\z;&gj ALET RAMG GLCA43 4M J—A" - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005
* ’Kii;g&é‘y A7 RAMG GLC63S E P - Sﬂgﬁf\zfiﬂ’ 115 0.075 0.038 0.005
* ’Kii;;&é‘y AEF RAMG GLC63S EP 4—A" - S?S%f\zf:@ 115 0.075 0.038 0.005
« 'gf;fgﬂ'gf 7 At RAMG GLE53 4M+ —~ S?gﬁ%ﬁ?:@ 115 0.05 0.025 0.005
o 'gf;ff‘mggf K4 AVET RAMG GLE53 4M+ C - S‘E%ff?:”’ 115 0.05 0.025 0.005
# Kiig\zs:t\zéj ALET RAMG GT43 J—A" - S(E%jgff:”’ 115 0.075 0.038 0.005
o lifA—_fzéoe’ggj K4 ALET RAMG GT43 4M+ - 3?;%&?:/" 115 0.075 0.038 0.005
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BA-BH BB KEAM-EH REICROEE co NMHC NOx PM
A AT ZAMG GT43 4M+ - st 1.15 0075 0038 0.005
"’ﬁfi;;(;;;;’" A7 RAMG GT53 4M+ - 3?;&%;@,\2?:”’ 115 0.075 0.038 0.005
) ';g:_'z;;of;g’ 7 AT RAMG GT63S 4M+ - 3?;%&5’:@ 115 0.075 0.038 0.005
HET RS AT RAMG GT63S 4M+ - sl 1.15 0075 0038 0.005
HeT R AtF RAMG GT63 SE P C - S‘EE%;%\Z;F’:@ 115 0075 0.033 0005
= f:;;oé;; 7 A7 RAMG GT63SE P - 3?;%&5’:@ 115 0.075 0.038 0.005
})Z:GAZ;;:;;;;J A7 RAMG S63 E P - S?gj%ff’:@ 115 0.075 0.038 0.005
A AT RAMG SL43 - sl 1.15 0075 0038 0005
HNAT XA ALET RAMG SL43 - sl 1.15 0075 0038 0.005
AT R AL£5 RAMG SL63 S E P - o 115 0075 0038 0.005




